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Days After Budding
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Days After Budding

EQ4AE TsN5 (plot by DAT)
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EQ4AE (plot by adjDAT)

@—)
“ 1
2
_MH m..a
@==1~=1 1
1 _FI* rl.
T Te e
Al 1
1 1 L I_
11 A ¢ ) ¢
_.I-I# r.* r.*
‘ -‘ L 1
o e | -0
il Lo ®
® il Lg T 7
9 r_l-e I-e
.“-V 57 [ B
o “-0 - I |
T T
_-llv T—:‘ |4 I* _I‘ “
_ 1 _I.* -9 “ |
P P P P ¢
P T e
- L |
e e T, T,
1 L |‘ |‘ I__ (P
_|.4 A ¢ e 9 .ﬂ
...* r.* 1 1 I
e Lo "0 1
* Iﬂ _u. rll.“
_.|0 -9 Lo I __o
o T
_I. _|‘ 1 1
. T L_4
! -@ *
e g "TTTC *
¢ L
IH nllws
||||||||||||||||||||||||||| _.Ml _"r IMII.O.||||
e
-
I g
] S
1 ke
oo e @
T s & & & & ¢

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



Days After Budding

EQ4AE TsN1 (plot by adjDAT)
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EQ4AE TsN4 (plot by adjDAT)
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Days After Budding
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Plot Env Data
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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